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» Onkotické poruchy
» Jonove poruchy
* Poruchy ABR



Distribution of body fluids and the Na & K
concentrations in the body water compartments

{_'TOTAL BODY WATER ~ 60% BODY WEIGHT BWt)

Intracellular space

(40% B Wt)

Na*: 8.0 mmol/L
K 151 mmolil.

H Interstitium
(15% B Wt)

| Na*:140 mmol/L
Extracellular fluid K*: 4 mmol/L

(20% B Wi)

e GELA - MEMBRAME----

CAPILLARY MEMBRANE

(5% B Wt)
Albumin: 40g/L
Na+: 140mmol/L
K*: 4 mmol/L

Lobo DN: Physiological Aspects of Fluid and Electrolyte Balance, 2002



Total daily water intake | 2000-2500

WaTEROUTPUT |

Total daily output 2000-2500 ml




- hyperventilation 500 ml

- hyperventilation in very dry surroundings 1000-1500 ml

- exposed wound surfaces and body cavities | 500-3000 ml|
operation lasting up to 5 hours




» 30 - 50 ml/kg/den = 2100 - 3500 ml/70 kg/der
» Metabolicka voda = 300 (az 1000) ml/24 h
« Nemeratelne fyziologicke straty vody su 800 -

1000 ml/24 hod.




(Sp. hm. 1032 - 1026) = 1100 - 800 mosmol/kg
» Bez stresu denne je potrebne vylucit
600 mosmol/kg
 \/ strese aj trojnasobok
cca 2,5 litra mocCa






| rt I ““““n““
del yd ratlon
overl yd ration

Isotonic
overhydration

Hypertonic

overhydration

If isotonic dehydration is caused by blood loss, total protein, RCC, Hb and Hct are normal
or low.

If isotonic dehydration is caused by plasma loss, total protein is normal or low.

MCHC = mean (erythrocyte) cellular haemoglobin concentration, Hb = haemoglobin,

Hct = haematocrit, RCC = red cell count, MCV = mean (erythrocyte) cellular volume,




2. Abnormalne starty

3. Preexistujuci deficit




* Pokles tel. hmotnosti
« MAC (MLAC)

* Pokles CVP

* Pokles PAWP

* Pokles LVEDP (TEE)



Distribucia roztokov —
kompartmentovy model




Glycocalyx ako bariéra

Endothelial Glycocalyx

Healthy
vascular
endothelium
coated by
endothelial
glycocalyx — a
layer of
membrane-
bound
proteoglycans
and
glycoproteins.

Vascular Lumen
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— albumin
* Arteficialne
— dextrany

— HES
— zelatiny




NAHRADZOVANIE OBJEMU
novy pristup 1 : 2-1,5

Hradenie: 1 lit

Klasicky pohlad:
Strata 1 litra krvi:

Krvi alebo 1 lit koloidu (IVT)

alebo 4 lit krystaloidu (ECT)
alebo 12 lit glukozy (CTV)

Lobo, 2002

Podany objem

(m)

Zmena IST
(ml)

Zmena ICT
(ml)

5% albumin

1.000

25% albumin

250

-750

G5%

14.000

+3.700

+9.300

H1/1

4.700

+3.700

Distribucné priestory roztokov!
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Pkr. Duod. st’.
Stolica
Hnacka

Moc¢
Transudat

72
30
40

145
141
35
75
610
144

100 35
/7 80
/3
45 45
80
112

RL
RL
F1/2
RL
F1/2
R1/1



etanol + metanol + etylengykol
N = 275-295 [mosmol/kg]
Okno (delta) osmolality:
= namerana — vypocitana osmolalita =
= 0 — 5 mosmol/kg



v nie vysSiu konc. ako 40 mmol do 1 litra ® do
periférnej zily
v nie rychlejSie nez 40 mmol/hod !

(je to iba orientacna pomadcka,
v praxi je nutné riadit' sa podla stavu pacienta)






« Zmeny ovplyvnujuce PaCO, su

respiracné poruchy




2t HCO4 =24 £+ 2.0 mmol/l
BE + 2.5 mmol/l.




— N Anion Gap (NCI") — Pldcne

« MAL — Mimopltcne
— Straty H* (git, ren, bb) e RAL
— Retencia HCO,

— Neuropsychiatrické
— Metabolicke
— Mechanicke

— Hemokoncentracia



Comp. MAL

Distinction can by made only with additional information
from history and clinical picture.




Prot + H" <& HProt
Hb-+ H*<HHB




Oxygen tension {(mmHg)
60 80

|

Arterial points
(13.3 kPa Po3)
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Posun doprava = N telesna teplota
= lahsie uvolnovanie O,  MPpCO,
MH* ibnov (acidoza) N 2,3-DPG




Anion gap = Na* - (Cl- + HCO,)
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